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nf-1= Clear[A];
K = Knot [8, 2]

our- - Knot[8, 2]

inf-}= soup = Times@@PD[K] /. x:X[1 , ] , kR , L ] = I-F[PositiveQ[x] R
a; i[1] ak,-j[J] a-,-r[R] a_i, [L],
a_j,i[1] a,7[J] ar,r[R] a_i, -, [L]
ouff-]= A_16,9[9] a_15,-9[9] @_14,7[7] a_13,-7[7] @_12,5[5] a_11,2[2] a_10,-4a[4] @a_g,_1[1]
a_g,15[15] a_7,.15[15] @a6,13[13] @a_5,_13[13] @4,1[1] a_3,10[10] @, 15 [12]
a_1,.5[5] 31,-10[10] 33,4 [4] a3,11[11] a4,-11[11] a5, 5 [2] @¢,12[12] a7, 14[14]
as,14[14] a@9,_16[16] a10,16 [16] @11,3[3] A12,-3[3] 313,-6[6] Q14,6 [6] a15,-3[8] a16,8[8]

nf-]= €s=soup //.a; 5 [x__laj ,p [V__1=air[x,y] /.a [x__]w=»a[x]

our- a[7, 14] a[9, 16] a[11, 3] a[13, 6] a[15, 8] a[2, 4, 11]
a[4, 1, 10] a[12, 5, 2] a[13, 7, 15, 9, 1, 5] a[14, 6, 12, 3, 10, 16, 8]

m-1= A = Table[@, Length@cs, Length@cs]

our - {{0,0,0,0,0,0,0,0,0,0}, {0,0,0
(0,0,0,0,0,0,0,0,0,0}, (0,0,0,
(0,0,0,0,0,0,0,0,0,0}, (0,0,0
{0,0,0,0,0,0,0,0,0,0}, (0,0,0

> 0},
e},
, 0}, {0,0,0,0,0,0,0,0,0,0},
, 0}, {0,0,0,0,0,0,0,0,0,0}}
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Infe]:= t=1—Az; r=t+t*;

mr-1= {t, r}

ourj= {1-2%, 2-2% - Conjugate [1]?}

Inf+]:= Do[Echo[x];
is = Position[cs, x[#]][1, 1] & /e {1, 2, 3, 4};
Echo[is];
A[is, is] += I-F[PositiveQ[x],
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{x, List @@ PD[K] } ]
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In[#]:=

Out[=]=

X[1, 4, 2, 5]
(7, 6, 6, 8)
X[5, 12, 6, 13]
(8, 8,4, 4)
X[3, 11, 4, 10]
(3,3,6,7)
X[11, 3, 12, 2]
(3, 3,8, 6)
X[7, 14, 8, 15]
{1, 1, 5, 5}
X[9, 16, 10, 1]
(2,2,7,7)
X[13, 6, 14, 7]
(4, 4,1, 1)
X[15, 8, 16, 9]

{5, 5,2, 2}

A

{{e,0,0,0,0,0,0,0,0,0}, {6,0,0,0,0,0,0,0,0, 0},

{6, 8, -4+22%+2Conjugate[1]?, @, @, -1+ Conjugate[1]%+2
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(1 - Conjugate[A]?),

2 (1-Conjugate[1]?), -1+ Conjugate[A]?, @, @}, {0, 0, 0,0, 0, 0, 0, 0, 0, 0},

{0,0,0,0,0,0,0,0,0,0}, {0,0, 1+2°+2

{e,0,2 (1-2%), 0,0, 1-Conjugate[a]?-2 (1-Conjugate[2]?),
@, 1-Conjugate[1]%, @, @}, {8, 0, -1+2%,0,0,0,1-2% 0,0, 0},
{6,0,0,0,0,0,0,0,0,0}, {0,0,0,0,0,0,0,0,0, 0}}

- Plot[MatrixSignature[A /. A e'*], (t, @, n}]

out[+]=

1.0

051
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(1-2%),0,0,0,1-2°-2

(1-2%), 0, 0, 0},



